
PROFESSIONAL

SPARKCUT

155955

1
x4

2
x4

3

4
5

6

7

7

x4

x4

13
x4

8

9

11

10

x5

14

15
16

17
x2

18
19

x2

20

21

x2

x2

22

23

24
x2

25
x226

x4

28
x2

27
x2

12

23

24
x2

25
x226

x4

28
x2

27
x2

31

30

35

39

32
x2

32
x4

38
41

34

36
37

x2

42

x2

x2

x2

x2

29

40 x2

44

9

43

SPARKCUT 106 - 145980

1 155798 Screw M 6x20
2 361317 Washer M 6 DIN 9021
3 155779 Depth gauge
4 360084 Washer M6 
5 361272 Screw M 6x10 ISO7380
6 145337 Console Set
7 361396 Screw
8 145330 Framework SPARKCUT 106
9 155850 Screw M 6x10

10 155758 Depth gauge set
11 155763 Ruler set
12 155794 Kanthal wire SPARKCUT 22-40
13 361273 Screw M6X6 DIN 913
14 145322 Pipe L1180mm
15 155757 Body
16 155785 Switch
17 361315 Screw M 2.9x32 DIN 7981
18 155784 Bush
19 155782 Stopple 
20 155803 Stopple  25/20
21 155802 Support Ф28
22 145338 Console Set

23 155793 Spring
24 360149 Nut M4
25 361277 Washer 1-M4
26 155792 Ceramic insulator
27 155791 Brass buckle
28 361316 Screw M 3x5 DIN 914
29 155830 Kanthal wire
30 155783 Cord with socket coupler
31 361265 Screw M6X42 DIN 427
32 155954 Stopple  20x20
34 155809 Switch SPARKCUT 22/40
35 155832 Screw M8
36 155831 Nut M8
37 361318 Washer M 8 DIN 9021
38 155805 Panel
39 155745 Framework SPARKCUT 22-40
40 155773 Plate Set
41 155808 Cord with plug coupler
42 142251 Transformer 230V/36V/12V                                                                                         
43 155795 Guide
44 153006 Cord protector

155955 142933

55SPARKY POWER TOOLS • 2018

POS.
No. Ref.No. Description POS.

No. Ref.No. Description


	Button 5: 
	Page 5521: 



